
  

lsB vkj- lh- ,l- dyk ,oa okf.kT; egkfo|ky; nqxZ ¼N-x½ 
tkap ijh{kk & 2021&22 

ch- ,- Hkkx& 3 
 fo"k; & fgUnh Hkk"kk 

le; % rhu ?kaVs                             iw.kkZad % 75 

uksV % lHkh iz”uksa ds mRrj nhft,A 
 

bZdkbZ & 1 
1- ¼v½ Hkkjrekrk dfork dk vk”k; Li’V dhft,A        8 

vFkok 
 Hkkjrekrk ds Lo:i dks dfo us fdl rjg O;Dr fd;k gS\ 
   ¼c½ fooj.kkRed “kSyh ls vki D;k le>rs gSa\ mnkgj.k lfgr fo”ks’krk,a crkb,A    7 

vFkok 
 ewY;kadu “kSyh dks lksnkgj.k le>kb,A 

bZdkbZ &2 
2- ¼v½ lw[kh Mkyh dk dFkkud vius “kCnksa esa fyf[k,A        8 

vFkok 
 lw[kh Mkyh ,dkadh dk mn~ns”; crkb,A 
   ¼c½ fof/k lwpd lajpuk dks Li’V djrs gq, ikap okD; cukb;sA       7 

vFkok 
 fouezrk lwpd o dkycks/kd lajpuk dks mnkgj.k lfgr le>kb;sA 

bZdkbZ & 3 
3- ¼v½ ekyrh tks”kh ds d`frRo ij izdk”k Mkfy,A        8 

vFkok 
 olh;r dgkuh dk mn~ns”; vius “kCnksa esa fyf[k,A 
   ¼c½ ifji= fdls dgrs gSa\ ifji= dh fo”ks’krk,a crkb,A       7 

vFkok 
 vuqLekjd fdls dgrs gSa mnkgj.k lfgr le>kb,A 

bZdkbZ & 4 
4- ¼v½ ;ksx dh “kfDr dk lkjka”k vius “kCnksa esa fyf[k,A        8 

vFkok 
 ;ksx dh “kfDr dk mn~ns”; crkb,A 
   ¼c½ vuqokn ds Lo:i dks Li’V djrs gq, mn~ns”; ij izdk”k Mkfy,A      7 

vFkok 
 vPNs vuqokn dh fo”ks’krk,a fyf[k,A 

bZdkbZ & 5 
5- ¼v½ lkekftd ,oa jk’Vªh; ,dhdj.k ds fy, lkaLd`frd fofo/krk vifjgk;Z gS** bl dFku dks Li’V djsaA  7 

vFkok 
 Hkkjr esa /keZ fuis{krk ls D;k vfHkizk; gS\ 
   ¼c½ izfrosnu fdls dgrs gSa\ fdlh nq?kZVuk dh tkap dk izfrosnu rS;kj dhft,A     8 

vFkok 
fuea=.k i= fdrus izdkj ds gksrs gSa\ fdlh ,d dk fuea=.k i= dk izk:i nsdj le>kb,A 



  

    SETH R. C. S. ARTS & COMMERCE COLLEGE 

MODEL EXAMINATION 2021-22 

B. A. - III 

  (English Language) 

Time – 3 Hours                              M.M - 75 

Note: Attempt all questions. All questions carry equal marks. 

UNIT – I 
Q 1. Answer of the following questions in about 200 words. (Any 3)       15 

1. Write a brief summary of the poem “Three years she grows.” 

2. Why was Vikramaditya known as the greatest judge of India? Can you reproduce any story of his 

judgement. 

3. What do you understand by Globalisation? 

4. Why are bores happy? 

5. What does Information Technology deal with? 

UNIT – II 

Q 2. Write an essay on any one of the following.        15 

(a) Environmental pollution  (b) Democratic Decentralisation  

(c) Women Empowerment   (d) Science and Religion 

UNIT - III 

Q 3. Wreite a precis of the following passage and suggest a suitable title to it.      5 

In every country people imagine that they are the best and the cleverest and the others are not so good as they 

are. The Englishman thinks that he and his country are the best, the Frenchman is very proud of France and 

everything French the Germans and Italians think no end of their countries and many Indians imagine that 

India is all conceit. Everybody wants to think well of himself and his country. But really there is no person 

who has not got some good in him and some bad. And in the same way there is no country which is not partly 

good and partly bad. We must take the good wherever we find it and try to remove the bad whenever it may 

be. We are of course most concerned with our country. India, unhappily it is in a bad way today and most of 

our people are poor and miserable. They have no pleasure in their lives. We have to find out how we can make 

them happier. We have to see what is good in our ways and custom and try to keep it, and whatever is bad, we 

have to throw away. If we find anything good in other countries we should certainly take it. 

UNIT – IV  

Q 4. Read the following passage and answer the following questions given below.    5 

 Gandhiji was not against machines. He believed that a machine is good if it serves man but it is harmful when 

it seek to master him. He was against the large scale use of machine because he wanted to utilize the immense 

man power and cattle power of India. He was completely in favour of village and cottage industries so that 

people could employ their own resources to improve their economic conditions. Gandhiji was a believer in 

self dependence so that people might not rely on British and foreign aid for their prosperity. The revival of 

hand spinning and hand weaving industry in their country shook the foundation of the British Empire. Another 

reason of Gandhi’s dislike for machines was that large scale production has the tendency of concentrating 

wealth in a few hands. 

 Answer the questions:  

1. Why di Gandhiji dislike machines? 

2. Why was Gandhiji in favour of village industries? 

3. What was the attitude of Gandhiji towards machines? 

4. What did hand spinning and hand weaving do for the country? 

5. Give the meaning of any two of the following. 

Empire, Immense, Cattle 

 (B) Make adverb from the following adjectives and use them in sentences of your own.   5 

 Basic, Dramatic, Slow, Efficient, Crucial 

(C) Provide the antonyms of the following:         5 

 Superiority, Assurance, Certitude, Eccentric, Notorious 

 



  

 

UNIT – V 

Q 5. Do as Directed (Any 25)          25 

1. Can I have ------------ on my bread? I prefer Amul if you have it (use come or any) 

2. He bought a large ------------ of bananas. (Insert the collective noun) 

3. It was ------------ I was talking about. (use he or him) 

4. Weather ------------ all the time. (use changes or change) 

5. I (always have) trouble with my car these days. (supply the suitable tense form of the verb given in 

bracket) 

6. She would not have waited ------------ you had been late. (supply if or unless) 

7. If you had worked harder ------------ complete the sentence using conditional clause) 

8. This music was written ------------ Laxmikant Pyarelal. (supply the correct preposition) 

9. All of you have heard about Ujjain ------------ ? (use the correct question tag.) 

10. Some slave ants work for their masters. Some other do nothing for their keep. (combine the sentences 

with appropriate co-ordinating conjunction) 

11. What a beautiful garden? (change into an assertive sentence) 

12. He is more intelligent ------------ his brother. (insert the missing word) 

13. We believe that the children are benevolent. (convert the sentence into a simple sentence) 

14. There is a boom ------------ consumer product. (use suitable preposition) 

15. You must Iron this dress for tonight change into passive voice. 

16. The school ------------ assembled by ten o’clock (use was or were) 

17. Physics ------------ the subject he was specializing as a student. (use was or were) 

18. The light was switched off (change the voice) 

19. I know a man ------------ eats raw vegetables (Add the missing relative) 

20. It is a kind of pepper ------------ you cannot eat. (Add missing relative) 

21. Allahabad ------------ is on the Ganga, is a beautiful city. (Add the missing relative) 

22. Go to bad and don’t get up till you are called. (put into the reported speech) 

23. We always try to please your (put into the reported speech) 

24. He is more a philosopher than a politician. (Rewrite the sentence as a compound sentence) 

25. Chhattisgarh has great mineral ------------ (wealthy) Rewrite the sentence using the noun. 

26. This is a passenger train, it stops ------------ every station. (supply preposition) 

27. He was accused ------------ murder (supply proposition) 

28. I am in a happy position of life ------------? (Correct question tag) 

29. You would not like to open the door (Correct question tag) 

30. Another chance was given him by his employer. (change into active) 



 

lsB vkj-lh-,l- dyk ,oa okf.kT; egkfo|ky; nqxZ ¼N-x-½ 
tkap ijh{kk 2021&22 

ch-,- r`rh;  o’kZ 
fo’k;& lekt”kkL= iz”u i= & izFke iz”u i= dk uke & lkekftd fopkjksa dk vk/kkj  

iw.kkZad 75 
&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&& 

uksV %& izR;sd bZdkbZ esa ls fdUgh ,d iz”u dks gy dhft;sA Attempt any one question from each unit. 

 

bZdkbZ 1 
dkEVs }kjk izfrikfnr izR;{kokn dh vo/kkj.kk Li’V djrs gq, bldh fo”ks’krk,a fyf[k;sA 
Clarify the concept of Positivism and its characteristics as propounded by Comte. 

vFkok 
nq[khZe }kjk izLrqr vkRegR;k ds izdkjksa dh O;[;k dhft,A 
Describe the types of Suicide Theory given by Durkheim. 

bZdkbZ 2 
dkyZ ekDlZ ds oxZ la?k’kZ fl)kar dh vkykspukRed foospuk dhft,A 
Critically discuss Marx’s theory of Class Struggle. 

vFkok 
izksVsLVs.V uhfr ,ao iwathokn ij eSDl oscj ds fopkjksa dh O;k[;k dhft,A 
Explain the views of Max Veber on Protestant ethics and capitalism. 

bZdkbZ 3 
iSjsVks ds rkfdZd ,ao vrkfdZd fdz;kvksa dh O;k[;k dhft,A 
Explain the Pareto’s logical and non-logical action. 

vFkok 
LisUlj dk lkekftd MkfoZuokn D;k gS\ le>kb;sA 
What is Spencer’s Social Darwinism? Explain.   

bZdkbZ 4 
FkkslZVhu osCysu ds lekt”kkL=h; ;ksxnku dh ppkZ dhft,A 
Discuss the sociological contribution of Thorstein Veblen. 

vFkok 
izdk;Zokn D;k gS\ izdk;Zokn dh fo”ks’krk,a crkb,sA 
What is Functionalism? Explain characteristics of Functionlism. 

bZdkbZ 5 
xka/khth ds lR;kxzg o vfgalk ds fl)kar dk o.kZu dhft,A 
Describe the theory of ‘Satyagraha and Ahinsa’ according to Gandhi Ji. 

vFkok 
lkekftd ewY; ds egRo ¼izdk;Z½ ij izdk”k Mkfy,A 
Explain importance or functions of social values. 

 

 

 

  

 



 

lsB vkj-lh-,l- dyk ,oa okf.kT; egkfo|ky; nqxZ ¼N-x-½ 
tkap ijh{kk 2021&22 

ch-,- r`rh;  o’kZ 
 

fo’k;& lekt”kkL= iz”u i= & f}rh; iz”u i= dk uke & lkekftd vuqla/kku i)fr  iw.kkZad 75 
&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&& 

uksV %& izR;sd bZdkbZ esa ls fdUgh ,d iz”u dks gy dhft;sA Attempt any one question from each unit. 

bZdkbZ 1 
lkekftd vuqla/kku D;k gS\ blds mn~ns”; rFkk pj.kksa dh O;k[;k dhft,A 
What is Social Research? Explain objectives and various steps of Social Research. 

vFkok 
midYiuk ls vki D;k le>rs gSa\ lkekftd vuqla/kku esa midYiuk dk egRo fyf[k,A 
What do you mean by Hypothesis? Write importance of hypothesis in social research. 

bZdkbZ 2 
lgHkkxh voyksdu D;k gS \ lgHkkxh voyksdu rFkk vlgHkkxh voyksdu esa varj Li’V dhft,A 
What is Participant Observation? Bring out the distinction between Participant and Non-Participant 

Observation. 

vFkok 
vUroZLrq fo”ys’k.k ls vki D;k le>rs gSa\ lkekftd vuqla?kku esa blds egRo dh foospuk dhft;sA 
What do you understand by Content Analysis? Explain its importance in social research. 

bZdkbZ 3 
iz;ksxkRed vuqla/kku i)fr D;k gS\ blds izeq[k izdkjksa dk o.kZu dhft,A 
What is Experimental Research Design? Explain the main types. 

vFkok 
fuEufyf[kr esa ls fdUgh nks ij laf{kIr fVIi.kh;kW fyf[k;s (Write short notes on any two of following): 

¼1½ vUos’k.kkRed vuqla/kku Exploratry Research ¼2½ o.kZukRed vuqla/kku Descriptive Research  
¼3½ O;k[;kRed vuqla/kku Explanatory Research. 

bZdkbZ 4 
fun”kZu D;k gS \ fun”kZu ds xq.k ,ao nks’kksa dk o.kZu dhft,A 
What is Sampling? Describe the merits and demerits of Sampling. 

vFkok 
vuqlwph ,oa iz”ukoyh ls vki D;k le>rs gSa\ blesa varj Li’V dhft,A 
What do you understand by Schedule and Questionnaire? Differentiate between them. 

bZdkbZ 5 
lkaf[;dh D;k gS\ lekt”kkL= esa lkaf[;dh dk mi;ksx ,oa lhek,a fyf[k,A 
What is Statistics? Write the uses and limitation of statistics in Sociology. 

vFkok 
dEI;wVj D;k gS \ lkekftd vuqla/kku esa dEI;wVj dh mi;ksfxrk dh foospuk dhft,A 
What is Computer? Discuss the utility of computer in social research. 



. . qr-M- Tia yfli ¥ra 2021-22 
TO-A fa_-uIIA - e 

TRtu YT-ha (International politics) 
Time 3 hrs | 

M.M.: 75 

Attempt all the five questions. One question from each Unit is compulsory. All question carry 

equal marks. 

-1/Unit- 

Explain the ldealistic and Realistic approaches of the study of International politics 

3ea1/0R 

Explain the meaning of national power and describe the elements of national power. 

g 2/Unit-1 

Explain the Geme theory of International Politics by naming the different theories. 

372T/0OR 

What is Cold War ? Describe the impact of the cold war on International politics. 

-3/Unit-ll 

Describe the constructive elements of India's foreign policy. 

37T/OR 

fefy 
What is Non-alignment? Describe the main features of postulates of the policy of Non-alignment ? 

-4/Unit-Iv 

Analyse Indo-pak relations? 

Describe about Indo-Chinese relation 

O-5/Unit-V 

Describe the International rfforts done in connection with environment. 

312741/OR 

Explain the meaning of globalization. Give arguments in favour of globalization. 



. y. yT-dT uUa qtlar vrA: 2021-22 

at y¥IVII (Public Administration) 
Time:3 hrs | ] M.M.: 75 

Attempt all the five questions. One question from each Unit is compulsory. All question carry 

equal marks. 

aT-1/Unit-1 

Describe the meaning, nature and region of Public Administration. 

3/21/0OR 

Describe the major methods and approaches to the study of public administration. 

FI-2/Unit-1l 

What do you understand by Hierarchy ? Point ot its merits and demerits. 

34T/OR 

Describe Chif Executive functions and powers. 

I-3/Unit-lll 

Write an essay on Union Public Service Commission. 

37er4T/OR 

Describe the nature, Issues and Characteristics of development administration.

-4/Unit-IV 

7 
Explain the methods of public control of administration. 

372791/0R 

Describe the important principles of a Good Budget. 

D5/Unit-V 

Describe the role of Lokpal in Public Administration. 

37r1/OR 

Descrbe the merits and demerits of Bureaucracy. 



  

  

 
lsB vkj- lh- ,l- dyk ,oa okf.kT; egkfo|ky; nqxZ ¼N-x½ 

tkap ijh{kk & 2021&22 
ch- ,- Hkkx& 3  

 fgUnh lkfgR;   
iz”ui=&izFke & tuinh; Hkk"kk lkfgR; NRrhlx<+h 

le; % rhu ?kaVs                      iw.kkZad % 75 

uksV   % lHkh iz”u gy djuk vfuok;Z gSA 

bdkbZ&1 

iz'u 1- fuEufyf[kr dh lizlax O;k[;k dhft, %&         

¼v½ xq: ib;ka ykxoa uke y[kk nhtks gksA 
 tue&tue dk lks;k euqok] lCnu ekj txk nhtks gks 
 ?kV vaf/k;kj uSu ufgaa lw>s] Kku dk nhi txk nhtks gksA 
 fo’k dh ygj mBr ?kV varj] vèr cwan pqaok; nhtks gks 
 xfgjh ufn;k vxe cksgk;] [ks; ds ikj yxk nhtks gksA 
 /kjenkl dh vjt xqlkbZ] vc dh ckj yxk; nhtks gksAA 
 

vFkok 
 

 rksj r~&r~&r~&r~ cbyk ds] cu tkFks xhr&Nan jsA 
lc [ksr gksFks jk/kk] r¡; cuFkl csVk uan js 
rksj [kqlh ys [ksr eu] >qej&>qej ygjkoS js 
rksj mNkg ys xkaos] e uok ftuxh vkoS js 
rksj [ksr ds pkjksa [kqV] gks tkFks pkjksa /kke jsAA 
 

¼c½ uojkr eub;k eu uo fnu ys mikl jfgFk;A ma[kj fo”okl gS fd ;s leS ea tÅu vuq’Bku gksFk; rs[kj cM+k 
Qk;nk gksFk;A dkgs ds la;e ea jgs ds dkju] fjrq ifjorZu gks;s ds dkju] vkus okyk d’V O;kf/k ls vuq’Bku 
djb;k cps jfgFk; blj gou vÅ ;K ds /kqaok ys gok “kq) gks tkFk;] ts[kj dkju fdle fdle ds jksx jkbZ ds 
lekfIr gks tkFk;A [kjkc gok y cus [kkrh gou lcys cf<+;k mik; vk;A ;s[kjs lsrh gekj tqUuk fjlh] eu ;s[kj 
cj tknk tksj fn;s gSA 

vFkok 
vkt ds cklh lax dy ds lkx] 
viu ?kj e] dk ds ykt 
tsgj nwlj cj [ka/kok dksM+Fks 
rsgj vius ckstkFksA 

¼l½ tEeks lkFk pqjkSuk cksjao] ,d lkFk ds [kkfrj eSa 
 ,d fnlk ds mM+r ijsok] Bha;k yk vejk ysFks 

vFkok 
 

fgtxk&ikjh ds cktkj eka] ijekjFk ds eksy dgk¡A 
gk¡ ds xqjrqj Hkk[kk cksy;] mgh ijein ij ysFksAA 
 

bdkbZ&2 

iz”u 2- lUr dkO; /kkjk dh izeq[k izo`fr;ksa ds vk/kkj ij /keZnkl ds inksa esa O;Dr psruk dk fo”ys’k.k dhft,A 

vFkok 

 NRrhlx<+h fuca/k ds fodkl ;k=k esa y[kuyky xqIr ds ;ksxnku dks Li’V dhft,A 

 
 
 
 
 



  

  

 
 

bdkbZ&3 
 

iz'u 3- NRrhlx<+h lkfgR; dh fodkl;k=k ij izdk”k Mkfy,A 
 

vFkok 
 

 fgUnh Hkk’kk ds fodkl esa NRrhlx<+h Hkk’kk ds ;ksxnku dks la{ksi esa fyf[k,A 
bdkbZ&4 

 
iz”u 4- fuEufyf[kr esa ls fdUgh ikap ij vfr la{ksi esa fVIif.k;ka fyf[k,A      

1- p¡nSuh xkSank dk mn~ns”; 

2- NRrhlx<+h Hkk’kk esa fyax fo/kku 

3- lR;Hkkek vkfMy dk jpuk lalkj 

4- lUr dkO; esa xq: efgek 

5- NRrhlx<+h nkuyhyk dk oSf”k’; 

6- Lkksuiku dk egRo 

bdkbZ&5 

 
iz”u 5- fuEufyf[kr iz”uksa ds mRrj nhft,A 

1- /keZnkl dh iRuh dk D;k uke Fkk\ 
2- vOcM+ “kCn dk fgUnh esa D;k vFkZ gS \ 
3- bZlqjh lEeku NRrhlx<+ ds fdl lkfgR;dkj dks izkIr gqvk gS \ 
4- yksdksfDr;ksa dks NRrhlx<+h esa D;k dgrs gSa \ 
5- pkan ch fdl d`fr ds l`tu dk dkj.k cuhA 
6- NRrhlx<+ dk xka/kh fdls dgk tkrk gS \ 
7- *csVh dh fonk* fdldh jpuk gS \ 
8- Mmdk dk fgUnh :i D;k gS \ 
9- pUnk vefjr cjlkbr miU;kl fdldh jpuk gS \ 
10- vkok miU;kl fdldh jpuk gS \ 
11- NRrhlx<+h esa “k ‘k ds LFkku ij fdl o.kZ dk iz;ksx gksrk gS \ 
12- lruke iaFk dh LFkkiuk fdlus dh Fkh \ 
13- tuinh; Hkk’kk lkfgR; ds lEiknd dk uke fyf[k,A 
14- xty ewyr% fdl Hkk’kk dk dkO; izdkj gS \ 
15- gjcksyok fdlds fy, iz;qDr gksrk gS ;k gks jgk gS \ 

 
 
 
 
 
 
 
 
 
 
 

 
 



  

  

 
lsB vkj- lh- ,l- dyk ,oa okf.kT; egkfo|ky; nqxZ ¼N-x½ 

tkap ijh{kk & 2021&22 
ch- ,- Hkkx& 3  

 fo"k; & fgUnh lkfgR; 
f}rh; iz”ui= ¼fgUnh lkfgR; dk bfrgkl rFkk dkO;kax foospu½ 

 

le; % rhu ?kaVs                      iw.kkZad % 75 

uksV   % lHkh iz”u gy djuk vfuok;Z gSA 

iz”u 1- Hkkjrh; vk;Z Hkk’kkvksa dk ifjp; nhft,A         12 

vFkok 

 fgUnh Hkk’kk ds {ks= esa izpfyr fgUnh ds foHkk’kkvksa ¼cksfy;ksa½ dk laf{kIr ifjp; nhft,A 

iz”u 2- fgUnh ds “kCn HkaMkj ij izdk”k Mkfy;sA         12 

vFkok 

 rRle] rn~Hko vkSj ns”kt “kCnksa dks lksnkgj.k nsdj le>kb;sA 

iz”u 3- fgUnh lkfgR; ds bfrgkl esa dky foHkktu ij izdk”k Mkfy,A      12 

vFkok 

 vk/kqfud dky dh lkekftd ,oa jktuSfrd fLFkfr;ksa dks fo”ysf’kr dhft,A 

iz”u 4- dkO; ds Lo:i ds izeq[k rRoksa ij izdk”k Mkfy,A        12 

vFkok 

 vyadkj dks ifjHkkf’kr dj mlds izdkjksa dks Li’V dhft,A 

iz”u 5- fdUgha pkj ij laf{kIr fVIif.k;ka fyf[k,A         12 

¼1½ jl ds Hksn   ¼2½ HkfDrdky dh miyfC/k ¼3½ dq.Mfy;ka NanA 

 ¼4½ Nk;kokn vkSj izxfrokn ¼5½ u;ha dfork   ¼6½ vk/kqfud dky ds miU;kl  

¼7½ jhfrc) vkSj jhfreqDr dfo 

iz”u 6- fdUgha ianzg oLrqfu’B iz”uksa ds mRrj nhft,A        15 
1- *fparkef.k* fdldk fuca/k laxzg gS \ 
2- ohjjl dk LFkk;h Hkko D;k gS \ 
3- pj.k&dey esa dkSu lk vyadkj gS \ 
4- *gal* if=dk ds izFke laiknd dk uke crkb;sA 
5- lkdsr dk vFkZ D;k gS \ 
6- fgUnh lkfgR; dk izFke bfrgkl fdlus fy[kk\ 
7- d`’.k HkfDr”kk[kk ds nks dfo;ksa ds uke fy[kksA 
8- vkfndky dks *pkj.k dky* fdlus dgk vkSj D;ksa \ 
9- jk’Vªh; dkO; /kkjk ds fdlh ,d dfo dk uke fyf[k,A 
10- u;h dfork ds laLFkkid dkSu gS \ 
11- *eSfFky dksfdy* fdl dfo dks dgk tkrk gS \ 
12- *dfBu dkO; dk izsr* fdl dfo dks dgk tkrk gS \ 
13- jke pafnzdk ds jpukdkj dk uke fyf[k,A 
14- bl iz”u i= dk iwjk uke fyf[k,A 
15- vk/kqfud ;qx dh ehjk fdl dof;=h dks dgk tkrk gS \ 
16- unh ds }hi fdldh jpuk gS \ 
17- iz;ksxokn dk izkjaHk dc gqvk \ 
18- *Hkk’kk dk fMDVsVj* fdl dfo dks dgk tkrk gS \ 
19- *dqdqjeqRrk* dfork ds jpukdkj dk uke fyf[k,A 
20- *vkxeu* dk rn~Hko :i fyf[k,A 



lsB vkj- lh- ,l- dyk ,oa okf.kT; egkfo|ky; nqxZ ¼N-x½ 
tkap ijh{kk & 2021&22 

ch- ,- vafre o’kZ 
vFkZ”kkL= ¼iz”ui= izFke½ 

le; % rhu ?kaVs                    iw.kkZad % 75 

uksV % lHkh ikap iz”uksa ds mRrj nhft,A izR;sd bdkbZ ls ,d iz”u djuk vfuok;Z gSA  
 

bdkbZ & 1 
 

iz”u 1- tula[;k o`f) dk vYi fodflr ns”kksa ds vkfFkZd fodkl ij iM+us okys izHkkoksa dh O;k[;k dhft,A 
 

vFkok 
vk; dh vlekurk dk D;k vFkZ gS\ vk; ds vlekurk ds dkj.k ,oa izHkkoksa dh O;k[;k dhft,A 

bdkbZ & 2 
 
iz”u 2- dkyZ ekDlZ ds fl)kar dh vkykspukRed O;k[;k dhft,A 

vFkok 
laf{kIr fVIi.kh fyf[k,A dksbZ nks 
1- tula[;k leL;k 
2- vlarqfyr fodkl dk fl)kar 
3- cM+s /kDds dk fl)kar 
4- tula[;k] xjhch ,oa i;kZj.k 

bdkbZ & 3 
 

iz”u 3- Jherh tkWu jkfcUlu ds fl)kar dh vkykspukRed O;k[;k dhft,A 
vFkok 

vkfFkZd o`f) esa uo izfrf’Br fl)kar dh vkykspukRed O;k[;k dhft,A 
bdkbZ & 4 

iz”u 4- cktkj dh foQyrk ls D;k rkRi;Z gS\ i;kZoj.kh; oLrqvksa ds fy, cktkj foQyrk ds lanHkZ esa fopkj O;Dr djsaA 
vFkok 

i;kZoj.kh; {kfr ds ewY;kadu dh vko”;drk dks Li’V dhft,A i;kZoj.kh; {kfr ds varxZr ok;q] ty rFkk ou 
dk ewY;kadu dhft,A 

bdkbZ & 5 
iz”u 5- fodkl”khy ns”kksa esa ekSfnzd uhfr ,ao jktdks’kh; uhfr ds mn~ns”;ksa dh foospuk dhft,A 

vFkok 
 fuEufyf[kr esa ls fVIi.kh;ka fyf[k,A ¼dksbZ nks½ 
 ¼1½ oS”ohdj.k ,oa d`f’k fodkl  

¼2½ [kk| lqj{kk 
¼3½ LokLF; ,oa iks’k.k 

 
 
 
 
 
 
 

 
 



lsB vkj- lh- ,l- dyk ,oa okf.kT; egkfo|ky; nqxZ ¼N-x½ 
tkap ijh{kk & 2021&22 

ch- ,- Hkkx rhu  
vFkZ”kkL= ¼f}rh; iz”u i=½ lkaf[;dh; 

le; % rhu ?kaVs                    iw.kkZad % 75 

uksV % lHkh ikap iz”uksa ds mRrj nhft,A izR;sd bdkbZ ls ,d iz”u djuk vfuok;Z gSA  
 

bdkbZ & 1 
iz”u 1- lkaf[;dh; dh ifjHkk’kk nhft,A blds egRo ,oa lhekvksa dks crkb;sA 

vFkok 
fofHkUu uxj esa e`R;qnj dks fp= }kjk iznf”kZr dhft,A 
uxj dk uke % dydRrk      ukxiqj    isfjl       eqEcbZ   yanu      cfyZu   psUubZ 
e`R;qnj %   270  325     90  240    65       95    250 

bdkbZ & 2 
iz”u 2- fuEufyf[kr vkadM+ksa dh lgk;rk ls cgqyd ¼Hkwf;’Bd½ Kkr dhft,A 

oxZ  0&10    10&20 20&30    30&40 40&50    50&60 
vko`fRr    5      7    10      15    8      5 

vFkok 
fuEu leadksa ls lekarj ek/; Kkr dhft,A 
izkIrkad     0&10     10&20  20&30    30&40 40&50     50&60   60&70 
fo|kfFkZ;ksa dh la0  15       25    52     56    78      80     70 

bdkbZ & 3 
iz”u 3- vifdj.k dk D;k vFkZ gS \ vifdj.k dks ekius dh dkSu&dkSu lh fof/k;ka gSA 

vFkok 
 fuEufyf[kr vko`fRr forj.k ls prqFkZd fopyu xq.kkad Kkr dhft,A 

oxZ  50&53  53&56  56&59  59&62  62&65  65&68 
vko`fRr    2    7   24    27    13    3 

bdkbZ & 4 
iz”u 4- fuEufyf[kr vkadM+ksa dh lgk;rk ls dkyZfi;lZu dk lglaca/k xq.kkad Kkr dhft,A 

 X : 23 27 28 28 29 30 31 33 35 36 

 Y : 18 20 22 27 21 29 27 29 28 29 

vFkok 
fuEufyf[kr vkadM+ksa ls fLi;jeSu dk dksfV varj lglaca/k xq.kkad Kkr dhft,A 

 X : 10 12 08 15 20 25 40 

Y : 15 10 06 25 16 12 18 
bdkbZ & 5 

iz”u 5- fuEufyf[kr vkadM+ksa dh lgk;rk ls fQ”kj ds vkn”kZ lwpdkad Kkr dhft,A 
oLrq 2015 2018 

ewY; Ekk=k ewY; Ekk=k 
A 4 20 6 10 

B 3 15 5 20 

C 2 25 3 15 

D 5 10 4 40 

vFkok 
 dky Js.kh ls vki D;k le>rs gSa \ dky Js.kh ds egRo la?kVd dk o.kZu dhft,A 


